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QUESTION 1

Which Layer 1 device can be used to enlarge the area covered by a single LAN segment? 

A. Router 

B. Repeater 

C. Switch 

D. NIC 

Correct Answer: B 

 

QUESTION 2

On Switch A, a static route has been redistributed into OSPF. Which type of OSPF router will this process make Switch
A? 

A. Autonomous System Boundary Router (ASBR) 

B. Designated router (DR) 

C. Area Border Router (ABR) 

D. Backbone Router (BR) 

Correct Answer: A 

 

QUESTION 3

Which option is used to configure Network Address Translation (NAT) to provide one-to-one mapping between local and
global addresses? 

A. Outside source static 

B. Overload 

C. Inside source static 

D. PAT 

Correct Answer: C 

 

QUESTION 4

Which IPv6 scope is used for private addressing on a local network? 

A. Global 
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B. Area wide 

C. Unique local 

D. APIPA 

Correct Answer: C 

 

QUESTION 5

A network administrator is troubleshooting an OSPF routing issue. There are two paths to a destination network from
one switch. In addition, one path is comprised of four 1 Gb links. The other path is comprised of two 1 Gb and two 100
Mb links. The administrator ran several trace routes and notices that the packets are swapping back and forth between
the two paths. 

Which corrective action must be taken on the switch infrastructure to correct this issue? 

A. Manually specify the OSPF Router ID on each switch within the path. 

B. Break the paths into multiple OSPF areas. 

C. Change the reference speed used by OSPF in cost calculations on all switches within the path. 

D. Switch all routing protocols to RIPv2. 

Correct Answer: C 

DEA-5TT1 Practice Test DEA-5TT1 Study Guide DEA-5TT1 Exam Questions

Powered by TCPDF (www.tcpdf.org)

DEA-5TT1 Practice Test | DEA-5TT1 Study Guide | DEA-5TT1 Exam Questions                                3 / 3

https://www.leads4pass.com/dea-5tt1.html
https://www.leads4pass.com/dea-5tt1.html
https://www.leads4pass.com/dea-5tt1.html
http://www.tcpdf.org
https://www.leads4pass.com/dea-5tt1.html
https://www.leads4pass.com/dea-5tt1.html
https://www.leads4pass.com/dea-5tt1.html

